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Choose the correct spelling for the missing word:

1. He decided to dress in gray suit in order to be
(a) Inconspicuous (b) Incunspcuous
(c) Inconspicus (d) Inconspicous
2. Find the word that is misspelled
(a) Label (b) Vacency
(c) Medal (d) No Mistakes
3. Nonchalant is most dissimilar to:
(a) Intelligent (b) Popular
(c) Concerned (d) Reckless
4. Novel is dissimilar to:
(a) Dangerous (b) Unsettled
(c) Suitable (d) Old
5. Choose the correct spelling for the missing word: The baby soft skin was to the harsh winter
wind.
(a) Sinsitive (b) Sensitive
(c) Sensative (d) Sinsative
6. Choose the correct spelling for the missing word: The customer service representative gave his
that the refund would be made within two weeks.
(a) Asurrance (b) Assurance
(c) Assurence (d) Assureance
7. Choose correct word for the sentence: He quarreled with his boss, of the consequences.
(a) Heedless (b) Devold

(c) Weary (d) Confident
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Choose the word that has the same or nearly same meaning of the given word: Compensate

Analogies:
Refined: Plebeian:: Selective:
(a) Unjust (b) Indiscriminate
(c) Cultivated (d) None of them
Find the word that is misspelled:
(a) Visionary (b) Virtuoso
(c) Vigor (d) No Mistakes
(a) Help (b) Challenge
(c) Defeat (d) Pay
“The Daily Dawn” was started in 1941 from
(a) Agra (b) Delhi
(c) Calcutta (d) Dhakka

is the largest peninsula of the world?
(a) Alaska (b) Arabia
(c) Labrador (d) Scandinavia

is the river passing through Washington.
(a) Thomas (b) Potomac
(c) Nile (d) Somalia
Ryder Cup is a famous trophy for which sport?
(a) Golf (b) Badminton
(c) Base Ball (d) Tennis

is the current Secretary General of OIC.

(a) Dr. Yousef Bin Ahmad (b)
(c) Ekameleddin Ihsanoglu (d)

Received emails come in which folder?

Ashraf Ghfari

lyad bin Amin Madani

(a) Inbox (b) Spam

(c) Both of these (d) None of these

Excel INDEX function:

(a) Counts

(b) Returns the value at given position in A Range or Array

(c) Counts cells b/w Dates (d)

Which keys we press to increase font size of selected text in MS word?

(a) Ctrl +] (b) Ctrl +

(c) Ctrl + ( (d) Ctrl +)

If you want to repair software bug, it is nvailable free of cost on internet called:
(a) Free Tutorial (b) Version

(c) Torrent (d) Path

Which of the following is not valid zoom size in power point?

(a) 1% (b) 5%

(c) 500% (d) All of these

What is the font size available in MS Word font size tool in formatting toolbar?
(a) 6to 78 (b) 6 to 65

None of these
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(c) 7to75 (d) 8to 72

MS Word 2007 can maximum zoom in a document

(a) 100% (b) 300%

(c) 500% (d) 1000%

Protocol which assigns IP address to client connected to Internet is

(a) DHCP (b) IP

(c) Rpc (d) Html

What is the name of the program that is specifically made for email checks?
(a) Web Browser (b) Email Clients

(c) The TRADIS (d) Outlook Express

Which file type cannot be attached with email?

(a) Docx (b) pplx

(c) exe (d) zip

In which Constitution system of Zakat and Usher was introduced in the country?
(a) 1956 (b) 1962

(c) 1972 (d) None of these

Which of the following Act provided for the safeguard of minorities?

(a) Act of 1940 (b) Act of 1919

(c) Act of 1932 (d) Act to 1955

(e) None

Name the person who look over after the dismissal of Khawaja Nazim-ud-Din?

(a) Muhammad Ali Bogra (b) Ch. Muhammad Ali

(c) Ghulam Muhammad  (d) Ayub Khan

The most important feature in the economic measures pursued by Alaud-din-Khilji was

(a) Foreign Trade

(b) Market Control

(c) Development of Agriculture
(d) Minting of new coins

The Indian states that were annexed by invoking the Doctrine of Lapse included.
(a) Jhanj. Nagpur and Travancore

(b) Jhanj. Nagpur, Stara

(c) Jhanj. Stara, Mysore

(d) Mysore. Satar. Bhavnagar

How many Muslims Leaders were included in Simla Deputation?

(a) 31 (b) 33

(c) 32 (d) 35

Who was the second Governor General of Pakistan?
(a) Liagat Ali Khan (b) Abdul Rab Nishtar
(c) Khawaja Nazim-ud-din(d) Raja Ghazanfar

The British attitude for granting independence to India changed because of:
i Impact of Second World War
iii. Change in the Government of Britain
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iii. Rising tide of Nationalism

(a) 1and3 (b) 2and 3
(c) land?2 (d) 1,2and 3
Arrange the Following in chronological order:

1. Formation of Interim Government

2. Recall of Lord Linlithgow

3. Cabinet Mission

4, Cripps Mission

5. Lord Wavell’s proposals

6. Mountbatten Plan

(a 2,3,1,4,6,5 (b) 2,4,5,3,1,6

(c) 4,2,6,1,5,3 (d) 1,2,43,6,5

Who was the Last Viceroy of India?

(a) Lord Mayo (b) Lord Mountbatten

(c) Lord linlithgow (d) Lord Hasting

Who will be the head of the Tehsil Government?

(a) Union Nazim (b) Union Naib Nazim

(c) Tehsil Nazim (d) Naib Tehsil Nazim

Yousaf Raza Gillani took the oath of Office of Prime Minister from President Pervez Musharraf on?
(a) September 9, 2008 (b) 25 March, 2008

(c) 17 November 2008 (d) October 7, 2008

When was M.A.O College established in Aligarh?

(a) 1877 (b) 1874

(c) 1875 (d) 1873

Two Nation Theory for the 1% Time was introduced by:

(a) Allama Igbal (b) Chaudhry Rehamt Ali

(c) Sir Syed Ahmed Khan  (d) Muhammad Ali Jinnah

Consider the following statement the Regulating Act of 1973 was passed by the British Parliament in
order to:

1. Establish Parliament Control over the administration of the East India Company’s territories in
India

2, Make the Governor of Bengal as the Governor General of Bengal

3. End the dual system administrated in India

Which of these statements are correct?

(a) 12 and 3 (b) land2

(c) 2and 3 (d) 1and3

When and where did Prime Minister Nawaz Sharif meet the Indian Prime Minister, Narender Modi?
(a) 31t January 2014, Beijing

(b) 27th May 2014, Dehli

(c) 4th February 2014, Hague

(d) 18th April 2014, Toronto

The Great Bath of the Indus Valley Civilization was discovered in:

(a) Harappa (b) Lotha

(c) Mohenjo-Daro (d) Ropar
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Mohen-jo-Daro is also known as:

(a) Mound of the Great (b) Mound of the Survivors

(c) Mound of the Living (d) Mound of the Dead

Sir Syed set up Muslim Educational Conference in 1868 with the main objective of

(a) Protect Persian and National Language
(b) Improvement in Urdu to Adjust with Modern Trends
(c) Suggest Modern Techniques for Education Improvements

(d) All of these

During whose Viceroyalty, Queen Victoria was crowned with Kaiser-i-Hind in Delhi Duration:

(a) Hastings (b) Lytton

(c) Elgin (d) Lord Mountbatten
PLO is abbreviation of:

(a) Peoples of Liberation organization

(b) Palestine Liberation organization

(c) Palestine Liberty Organization

(d) Punjab Liberation Organization
Which one of the following is not a form of precipitation?

(a) Fog (b) Hail

(c) Snowfall (d) Rainfall

In which region Bangladesh is situated?

(a) East Asia (b) South Asia

(c) West Asia (d) North Asia

The heaviest rainfall is recorded in:

(a) Mediterranean Region (b) Temperate Region

(c) Equatorial Region (d) Tropical Mountain Areas
Ceska Koruna is currency. Which of the following is the capital of Czech Republic?
(a) Swiss (b) Masco

(c) Peking (d) Prague

CIA is abbreviation of:

(a) Certified Intelligence Agency

(b) Central Intelligence Agency

(c) Both of them

(d) None of them

NRA is the abbreviation of

(a) Nuclear Regulatory Authority

(b) National Regulatory Authority

(c) National Regulatory Agency

(d) Nation Regional Authority

ADC is the abbreviation of

(a) Aide-de-camp (b) Agricultural Development Corporation
(c) Additional Deputy Commissioner

(d) All of them

In which type of rocks are coal and petroleum found?
(a) Granite (b) Igneous
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(c) Metamorphic (d) Sedimentary
In case all the three switches are on in the second setting, which among the following could have

been the initial setting.

56.

57.

58.

For any other initial setting, turn on all switches that are off and turn off all switches, if any, that are
on.

In case in the initial setting is the switches A and B are on and the switch C is off, then what could be
the second setting?

(a) Aon,Bon, Con. (b) A on, B off, Con

(c) A on, B off, C off (d) A off, B on, C off.

(e) A off, B off, Con

Five educational films A, B, C, D, & E are to be shown to a group of students.

The films are to be shown in a particular order, which conforms to the following conditions:
A must be shown earlier than C.

B must be shown earlier than D.

E should not be the fifth films shown.

Which among the following is a pair of films that CANNOT both be shown earlier than E?

(a) AandB (b) AandD
(c) BandC (d) BandD
(e) CandD

Mrs. Kamran wishes to renovate her cottage. She hires the services of a plumber, a carpenter, a painter,
and electrician, and an interior decorator. The renovation is to completed in a period of one working
week i.e. Monday to Friday. Every worker will be taking one complete day to do his job. Mrs. Green will
allow just one person to work per day.

(a) The painter can do his work only after the plumber and the carpenter have completed their jobs
(b) The Interior decorator has to complete his job before that of the electrician.
(c) The carpenter cannot work on Monday and Tuesday

Which arrangement among the following is possible?

1. The electrician will work on Tuesday and the interior decorator on Friday.
2. The painter will work on Wednesday and the plumber on Thursday.

3. The carpenter will work on Tuesday and the painter on Friday.

4. The painter will work on Monday and the carpenter on Thursday.

5. The carpenter will work on Wednesday and the plumber on Thursday.

A bus has exactly six stops on its route. The bus first stops at stop one and then at stops two, three,

four, five, and six respectively. After the bus leaves stop six, the bus turns and returns to stop one and repeats
the cycle. The stops are at six building that are, in alphabetical order L, M, N, O, P, and Q.

P is the third stop.

M is the sixth stop.

The stop O is the stop immediately before Q.
N is the stop immediately before L.

In case a passenger gets on the bus at O, rides past one of the stops, and gets off at P. which of the
following must be true?
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(a) O is stop one (b) O is stop three
(c) P is stop four (d) N is stop five
(e) L is stop six

Tafseer Al-Durr-ul-Mansoor is written by

(a) Imam Jalal ud din Suyuti

(b) Imam Ibn e Kathir

(c) Imam Razi

(d) Shah Wali Ullah
Wine was declared Haram in:

(a) 9™ Hijri (b) 7% Hijri

(c) 5% Hijri (d) 8™ Hijri

Which Surah of Quran has Bismillah twice?

(a) Al Ahzaab (b) Al Anfaal

(c) Al Namal (d) Al Noor

Fatwa Qazi Khan is an authentic Fatwa of:

(a) Figh Hanafi (b) Figa Hanbali

(c) Figa Shafi (d) Figa Maliki

What is meant by Iljma?

(a) Agreement of People (b) Agreement of Ulama
(c) Agreement of Pupil (d) Jama

How many camels render is to pay Zakat?

(a) 3 (b) 5

(c) 7 (d) 10

(e) None

The author of Al-Hidaya is

(a) Abdullah Ibn Mubarak (b) Muhammad bin Ahmad
(c) Burhan Ud Din (d) Al Kaseer

When Hazrat Umer (RA) embraced Islam?

(a) 600 Ad (b) 608 Ad

(c) 612 Ad (d) 616 Ad

What is the full title of Tafseer-ibn-e-Kaseer?

(a) Ahkam Ul Quran (b) Baian Ul Quran

(c) Tibian Ul Quran (d) Tafseer Quran-e-Azeem
Who established the department of Police?

(a) Hazrat Usman RA (b) Hazrat Ameer Muawia RA

(c) Hazrat Umar Farooq (RA)
(d) Hazrat Ali (RA)
In which Surah of the Quran are the details of heritage?

(a) Surah e Baqgra (b) Surah e Nisa
(c) Surah e Madina (d) Surah e Noor
Azan for prayer was adopted in:

(a) 1st Hijra (b) 2nd Hijra

(c) 3rd Hijra (d) 4th Hijra

How many Surah/Chapters of the Quran are named after the name of animals?
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(a) 2 (b) 3

(c) 4 (d) 6

When first Namaz of Eid-ul-Fitr was offered?

(a) 1st Shawal 1st Hijri (b) 1st Shawal 2nd Hijri
(c) 1st Shawal 3rd Hijri (d) 1st Shawal 5th Hijri
How many goats render is to pay Zakat?

(a) 40 (b) 35

(c) 55 (d) 50

In the beginning Holy Prophet (PBUH) worked as a shepherd for
(a) Banu Ummayya (b) Banu Asad

(c) Banu Saad (d) Banu Makhzoom

Battle b/w Taloot and Jaloot is described in which Surah of Al Quran?
(a) Al Nisa (b) Al Imran

(c) Al Bagra (d) Yaseen

Which country is called the “Land of Prophets”?

(a) Syria (b) Palestine

(c) Iraq (d) Saudia Arabia

The economic system with little i.e. no external trade is called:
(a) Open Economy (b) Close Economy
(c) Autarky (d) All of these



